Log, ratio

C57BL/6
=

129X1/Svd

SM/J

DBA2/J

NZB/B1NJ

12981/SvimJ
-
=

[TTTTTTTTTTTTTTITTT
C57L/

FTTTTTTTTTTTTTITITT T
AlJ

LG/ -

TT1T1r1r1r1rrrrrrTrTnrTrnml
NZW/LacJ

BALB/CBY) o

58/ -

IIIIIIIIIIIiIIIIIII
AKR/J

PL/J
=

NOD/ShiLt) - FVB/NJ - — C3H - -1 SWR/ -
= = .
MMTTTTTTTTTITTIITT Tl [T T T T I T T I T T I T T Tl [TTTT T I T T I T T I TT7 T Tl [TTT T T T I T T I T T 71T
BTBR - -1 SJLA - - CBA/ — - KK/HU -
= = = =
MTTTTTTTTT I T T I TTT] TTTTT T I T T I T I I T T 7Tl [TTTTT I T T I T T T I TT Tl [TTTT T T T I T T T T 7T 1T
126 130 135 126 130 135 126 130 1356 126 130 135

Chromosome 8 position in mb
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